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@This one is very different, caused not by geology or natural climate change but by a
single species —us.
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When scientists explore ecosystems, they find countless complex and beneficial
relationships in nature, all created by millions of years of evolution. If undamaged,
@these produce a freely balanced, healthy system ....
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Though the world faces huge challenges, we have made tremendous progress. @/This is
the fact-based worldview.
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(we have made tremendous progress.)

4 ER6

[ TR 36 X ORFE B E ]
®Qur brains often jump to swift conclusions without much thinking, which used to help
us to avoid immediate dangers.
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(]
much he depended on it / important it was
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1. it was more difficult for him to keep his schedule
2. 1t was impossible for him to use the teaching materials as he had planned
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I think the following two things would happen if they didn’t have their smartphones. First,
they would have more chances to talk with their friends face to face. Some of them just exchange
messages with their friends in the classroom. However, without their smartphones, they would
have no choice but to approach their friends whenever they have something to say to them.
Second, their sleeping time would increase. Some of them stay up late playing with their
smartphones or wake up intermittently to reply to their friends’ messages. They would definitely
get enough sleep for the next day. (98 words)
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